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Second Semester B.Com. Degree Examination,
May/June 2019

(CBCS - Semester Scheme)

Commerce

QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS -1

Time : 3 Hours]

Instructions to Candidates : Answer should be either completely in Kannada or English.

1. Answer any FIVE sub-questions. Each question carries 2 marks :

SECTION - A

B8 QPnDoB FYNT adnz)TeEsve 0w Uua’—?u}%ﬁﬁ?ﬂ ouZ02. T3 ovs BB 2 WoTNRD
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(e)
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Define statistics in singular sense.

5T IWIFFEE, 3093%835'5361& ;332533%(0%.

Write any two objectives of Tabulation.

What is Mode?
WBIBOI 30020 dordenn?

If X =24, Z =26, find Median.

X=24, Z =26 ugd :’x)qgsa’dd&ﬁodoéo&@&

Mention two methods of measuring consumer price index.

WYBWITT HTB 2363 2,025,058 SRJINL 0T ?

If CV is 60% SD is 12. Find out Mean.
duedab 3BrOKT 60%, BET BN 12 SB3 0D oR),?

Mention any two objectives of statistics.

$0a0RTOR T CIRT)WRWTR VB VT eBNFE), IO,
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SECTION - B

Answer any THREE of the following. Each question carries 6 marks :
(3 x 6 =18)

8 TYNT IR mBTe Suesd IBrIrt euI02. HE I 6 wosney :

Present the following information in a statistical table. In the year 2005, there
were 200 banks. Out of which 50 were private banks. In these 50 banks, 10 had
A.T.M. facility and none of the nationalized banks had this facility. In the year
2015 there was an increase of 50 banks in the private sector and total number of
banks was 275. 20 nationalized banks had A.T.M. facility and 75 private sector
banks had this facility.

o g9 VOBNYRY, BeIFTe SBD :

200509, 98 wi) 200 wR080nYd 50 wexn 2R,050YB). B 50 w0%rY P33 1009w
ATM. Pogdzd). 3y odwmde T4ET3 R 05oried AT.M. POy dode. 201586
DR W 0BNY R0k 500K, wIhmy Wi, w08oNY Zoad, 275TmNS. 20 DT 3
wR,080MY o) 75 aezh W 0zonYd A.T.M. POIIT.

Calculate simple mean and weighted mean for the following data :

Subject Marks Weights

Kannada 60
English 75
Science 63

Mathematics 59
Social science 53

= CONGd § A

gt Botdvos T3308%, 30¢ 3 FRdRcOTT 30358?19}5&?* OB &BOVD :
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From the following information find :

(a) Which of the factory pays larger wage bill?
/_,.--——-"\ EE —
(b) Which factory wages are more variable? 2N P~‘j‘f,"r R us A
P e 3

Factory A Factory

Number of wage earners 250 200
X Wages (Rs.) 40 45
Variance 100 225

B FYNT S9&30%00% :
(a) 00 TeaTRFBOIN BUR FOWIIT), WTW SPEIZHWIBT), S92
(b) od»z Fawaerdodn ézéj ool 30&@55‘.{% mdéﬁogdowwd& 3927

TIFD A Tvers B

08 BBoINS TS 250 200
A00RD Rowd X (Ge.nd) 40 e
e 100 225

Construct the consumer price index number for 2018. On the basis of 2012 from

the following data using family budget method.

Commodity Commodity consumed in 2012  Price (Rs.)

2012 2018
A 12 80 60
B 8 40 45
@ 4 70 0L20
D 8.8 ¥ MO8
E 5 20 40
F

2 : 200 200
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3 3YB0R Bwé&Ioow MBT weSodd zifaz.’mdoa’daf% 2018 3HeF, Tomd> &HBOWO

333:3 neo

i ESEL e B

12

N U1 O A~

SRNY DO 2012 IS (TBR.)

2012 2018
S0 60
40 45
70 80
70 90
20 40

200 200

Calculate mean deviation from median from the following data :

Wages (Rs.)
Less than - 10
Less than - 20
Less than - 30
Less than - 40
Less than - 50
Less than - 60
Less than - 70
Less than - 80

10
26
40
64
120
160
190
200

No. of workers

Filerile) 3BT, S0P, 3B00OROT S FINT 08 08RO F0Ed HBOID :

809 (TR.)

308 58 - 10
3038 & - 20
408 5635 - 30
%038 3B - 40
308 8B - 50
303 38 - 60
308 3@ - 70
303 5a - 80

TORMOT ﬁoa%

10
26
40
64
120
160
190
200
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SECTION - C

Answer any THREE questions. Each question carries 14 marks : (3 x 14 = 42)
S 3INT 03B TeBTH St TBNRIN evgd2. B3 I3t 14 e0sned

Calculate Mate with the help of grouping table and analysis table.

FINT S&3r 1O0D) T8, [oF) DR B3, 350 0HL DT WHIHIZ F0ED0LB), FOBO &HBOLD.
x: 0-5 5-10 10-15 15-20 20-25 25-30 30-35

s il 6 20 12 20 18 2

Draw less than and more than ogive curves for the following frequency
distribution and obtain median.

391t BLIDOT BY0BROT o> Bead BFoHY, ‘U WAET ‘BACT TR WS FE WY,

WS>, VBT ST TSR, B8 BL GVITI, BOH2.

CI 0-20 20-40 40-60 60-80 80-100 100-120 120-140 140-160
FUTE S el 30 24 16 10

Calculate which company share prices are more consistent.
BINT SPE300T 0T FoTIoD HedT WSl BUF TBEILT), BRODE HOWIBTY, FOB)
&BOWD.

X Co. sihdre prices :
X 30300 Icds 3ef: 110 122 146 152 154 162 166 172

Y Co. share prices :
Y 305Q0h Redg 23¢3: 128 144 160 170 108 58 62 94

Compute the Pearson’s coefficient of skewness from the following :
Age (in years) 0-10 10-20 20-30 30-40 40-50 50-60 60-70
No. of persons 15 10 18 12 10 5 2

EINT HTONL0T $0DHOEAT ARSI MOT0TIT), FOWO SHROWD

SobR (IAFTD) 0-10 10-20 20-30 30-40 40-50 50-60 60-70

3,319 s, 15 /:.;—,:g-sﬁ?"“ ABARE EA J%;\\m 5 2
S0\ . 14
4 r\;‘ ¥ 2 + O\
,’/O AR O\
| < St fr=
% F - 553122 >
i KGF - 55)/36 /?/.
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Compute the Fisher’s Ideal Index and show how it satisfies the TRT and FRT.
Items : MRS D el

Price (in Rs.): 20 50 40 60 10
2015

Oty : 08 10 05 20 06
Price (n Rs): 30 40 50 60 40
2018 oy 10 08 12 16 10

B FSNS wazsﬁaod SRO°T STBBE :’uaa%oﬁﬁaigl F0@> HRoWD. Wy Bert TRT 303 FRT
Soegrvsy 3MRTRZB0B) $oe0k
SBE e g S e, < i .

23¢3 (Cwe.ned) 20 50 40 60 10

2015
Fejernepha) 08 40" 05720006 -
23¢3 (S. 1199) 30 40 50 60 40
201835
Fifemerly] 10 08 12 16 16
< \- : ,::- l“;
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